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1.  Secondary air pollutant is referred to which of the following? 
A.  Pan 
B.  Ozone 
C.  Carbon Monoxide  
D.  Nitrogen dioxide  

 f}rh;d ok;q iznw"kd fuEufyf[kr esa ls fdldks lanfHkZr djrk gS\ 
 A. dM+kgh 
 B. vkstksu 
 C. dkcZu eksuksvkDlkbM 
 D. ukbVªkstu MkbvkWDlkbM 
 
2- Which is not a component of human environment? 
 A. Community 
 B. Family 
 C. Land 
 D. Religion  
 dkSu lk ekuo i;kZoj.k dk ?kVd ugha gS\ 
 A. leqnk; 
 B. ifjokj 
 C. Hkwfe 
 D. /keZ 
 
3- Which of these atmospheric layers contains the ozone layer, which is in charge of 
 absorbing utlraviolet (UV) light? 
 A. Stratosphere 
 B. Mesophere  
 C. Troposphere 
 D. None of these  
 buesa ls fdl ok;qeaMyh; ijr esa vkstksu ijr gksrh gS] tks ijkcSaxuh ¼;woh½ izdk'k dks 
 vo'kksf"kr djus ds fy, ftEesnkj gS\ 
 A. LVªSVksfLQ;j 
 B. ehlksLQh;j 
 C. {kksHk eaMy 
 D. bues ls dksbZ ugha 
 
4- Which of these are essential non-metallic minerals? 
 A. Coal, silica, clay, cement 
 B. Iron, Copper, aluminium, zinc 
 C. Gold, platinum, silver 
 D. Granite, limestone, marble 
 buesa ls dkSu&ls vko';d v/kkfRod [kfut gSa\ 
 A. dks;yk] flfydk] feV~Vh] lhesaV 
 B. yksgk] rkack] ,Y;qehfu;e] tLrk 
 C. lksuk] IySfVue] pk¡nh 
 D. xzsukbV] pwuk iRFkj] laxejej 
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5- Which one of the following is a group of roots? 
 A. Carrot, Beetroot, Radish 
 B. Beetroot, Potato, Ginger 
 C. Carrot, Turmeric, Ginger 
 D. Sweet Potato, Radish, Turmeric  
 
 
 fuEufyf[kr esa ls dkSu lk tM+ksa dk lewg gS\  
 A. xktj] pqdanj] ewyh 
 B. pqdanj] vkyw] vnjd 
 C. xktj] gYnh] vnjd 
 D. 'kdjdan] ewyh] gYnh 
 
6- Who coined the term "Ecosystem"? 
 A. Haeckel 
 B. Tansley 
 C. Odum 
 D. Humboldt  
 ÞikfjfLFkfrdh ra=ß 'kCn fdlus x<+k\ 
 A. gsdsy 
 B. ruLys 
 C. vksnqe 
 D. gEcksYV 
 
7- Ramsar convention to promote conservation is come into force in India in? 
 A. 1980 
 B. 1982 
 C. 1989 
 D. 1990 
 laj{k.k dks c<+kok nsus ds fy, jkelj lEesyu Hkkjr esa dc ykxw gqvk\ 
 A. 1980 
 B. 1982 
 C. 1989 
 D. 1990 
 
8- World environment day is celebrated on? 
 A. 5th June 
 B. 21st June 
 C. 27th May 
 D. 14th May 
 fo'o i;kZoj.k fnol euk;k tkrk gS\ 
 A. 5 twu 
 B. 21 twu 
 C. 27 ebZ  
 D. 14 ebZ 
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9- What is the estimated percentage of forest land that India should ideally have? 
 A. 15% 
 B. 50% 
 C. 44%  
 D. 33% 

Hkkjr esa vkn'kZ :i ls ou Hkwfe dk vuqekfur izfr'kr fdruk gksuk pkfg,\ 
 A. 15% 
 B. 50% 
 C. 44%  
 D. 33% 
 
10- An extensive number of chains interlinked in an ecosystem forms a ......... together. 
 A. Food chain 
 B. Food web 
 C. Carbon cycle 
 D. Nitrogen cycle 
 ,d ifjfLFkfrdh ra= esa vkil esa tqM+h gqbZ O;kid la[;k esa J̀a[kyk,a feydj ,d -------- 
 cukrh gSaA 
 A. [kk| J̀a[kyk 
 B. osc Hkkstu 
 C. dkcZu pØ  
 D. ukbVªkstu pØ 
 
11- Which of these elements is considered to be the largest source of commercial energy 
 consumption in the world? 
 A. Nuclear 
 B. Natural gas 
 C. Oil 
 D. Coal 
 buesa ls dkSu lk rRo fo'o esa O;kolkf;d ÅtkZ [kir dk lcls cM+k lzksr ekuk tkrk gS\ 
 A. ukfHkdh; 
 B. izkd`frd xSl  
 C. rsy   
 D. dks;yk 
 
12- Which one of these does NOT refer to the direct use of forest products? 
 A. Grass for grazing 
 B. Gums and resins 
 C. Medicine 
 D. Bamboo for baskets 
 buesa ls dkSu lk ou mRiknksa ds izR;{k mi;ksx dks lanfHkZr ugha djrk gS\ 
 A. pjus ds fy, ?kkl 
 B. xkasn vkSj jsftu 
 C. nok 
 D. Vksdfj;ksa ds fy, ckal 
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13- Which of these does not constitute to be a reason for the loss of forests? 
 A. Extinction of species 
 B. Increasing use of sood 
 C. Building dams and mining 
 D. Extensive usage of fuel woods 
 buesa ls dkSu lk ouksa dh gkfu dk dkj.k ugha curk gS\ 
 A. iztkfr;ksa dk yqIr gksuk 
 B. lwn dk c<+rk mi;ksx 
 C. cka/k cukuk vkSj [kuu djuk 
 D. bZ/ku dh ydfM+;ksa dk O;kid mi;ksx 
 
14- In which of these following can we find Brackish water ecosystems? 
 A. Wetlands  
 B. Streams   
 C. Deltas  
 D. Coastal shallows 
 fuEufyf[kr esa ls ge fdlesa [kkjk ty ifjfLFkfrdh ra= ik ldrs gSa\ 
 A. osVySaM~l 
 B. LVªhe 
 C. MsYVk 
 D. dksLVy 'kSyks  
 
15- Which drug is associated with the tea or coffee plant source? 
 A. Camphor 
 B. Caffeine 
 C. Thorn Apple 
 D. Opium Poppy 
 dkSu lh vkS"kf/k pk; ;k dkWQh ds ikS/ks ds lzksr ls lEcaf/kr gS\ 
 A. diwj 
 B. dSQhu 
 C. dkaVk lsc 
 D. vQhe iksLrk 
 
16- How total numbers of biodiversity hotspots are there in the world? 
 A. 36 
 B. 32 
 C. 28 
 D. 18 
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 fo'o esa tSo fofo/krk gkWVLikWV dh dqy la[;k fdruh gS\ 
 A. 36 
 B. 32 
 C. 28 
 D. 18 
 
17- Which of these is the most naturally occurring and frequent disaster? 
 A. Tsunami 
 B. Drought 
 C. Earthquake 
 D. Flood 
 buesa ls dkSu lh lcls LokHkkfod :i ls gksus okyh vkSj ckj&ckj gksus okyh vkink gS\ 
 A. lqukeh 
 B. lw[kk 
 C. Hkwdai 
 D. ck<+ 
 
18- Which two forms of alcohol do we include in biofuels? 
 A. Methanol and Ethanol 
 B. Propanol and Ethanol 
 C. Propanol and Methanol 
 D. None of the above 
 ge tSo bZ/ku esa vYdksgy ds fdu nks :iksa dks 'kkfey djrs gSa\ 
 A. esFkukWy vkSj bFksukWy 
 B. izksisukWy vkSj bFksukWy 
 C. izksisukWy vkSj esFkukWy 
 D. buesa ls dksbZ Hkh ugha 
 
19- Which of these gases is not permitted to be released by the Prevention and Control 
 of Pollution Act by the Government? 
 A. Sulphur Dioxide 
 B. Carbon Monoxide 
 C. Nitrogen Oxide 
 D. All of the above 
 ljdkj }kjk iznw"k.k fuokj.k ,ao fu;a=.k vf/kfu;e ds rgr buesa ls fdl xSl dks NksM+us 
 dh vuqefr ugha gS\ 
 A. lYQj MkbvkWDlkbM 
 B. dkcZu eksuksvkDlkbM 
 C. ukbVªkstu vkWDlkbM 
 D. Åij ds lHkh 
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20- In which of these years was the Forest Conservation Act amended? 
 A. 1978 
 B. 1988 
 C. 1963 
 D. 1952 
 buesa ls fdl o"kZ esa ou laj{k.k vf/kfu;e esa la'kks/ku fd;k x;k Fkk\ 
 A. 1978 
 B. 1988 
 C. 1963 
 D. 1952 
 
21- Which of these elements is present in the drinking water that can lead to numerous 
 fatal diseases? 

A. Phosphorus  
B. Calcium  

 C. Arsenic  
 D. None of the above 
 ihus ds ikuh esa ,slk dkSu lk rRo ekStwn gksrk gS tks dbZ ?kkrd chekfj;ksa dk dkj.k cu 
 ldrk gS\ 
 A. QkLQksjl  
 B. dSfY'k;e 
 C. gjrky 
 D. buesa ls dksbZ ugha  
 
22- Which of these species do we use in indigenous medicine? 
 A. Babul 
 B. Zizyphus 
 C. Tamarind   
 D. None of the above 
 buesa ls fdl iztkfr dk mi;ksx ge Lons'kh fpfdRlk esa djrs gSa\ 
 A. ccwy 
 B. ft+ft+Q+l  
 C. beyh  
 D. buesa ls dksbZ Hkh ugha 
 
23- Which of these are also known as Detrivores? 
 A. Decomposers  
 B. Carnivores  
 C. Herbivores 
 D. None of the above 
 buesa ls fdls MsfVªokslZ ds uke ls Hkh tkuk tkrk gS\ 
 A. Mhdaikstj 
 B. ekalkgkjh 
 C. 'kkdkgkjh   
 D. buesa ls dksbZ Hkh ugha 

P.T.O. 
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24- Which of these sacred groves acts as the gene bank for various wild plants? 
 A. Mauhak 
 B. Deorais 
 C. Jahera 
 D. None of these 
 buesa ls dkSu lk ifo= miou fofHkUu taxyh ikS/kksa ds fy, thu cSad ds :i esa dk;Z djrk 
 gS\ 
 A. ekSgd 
 B. nsojkbZl 
 C. tkgsjk 
 D. buesa ls dksbZ ugha 
 
25- Which of these countries constitute approximately 57% of the various large dams in 
 the world? 
 A. Brazil and India 
 B. Japan and India 
 C. China and India 
 D. Brazil and China 
 fo'o ds fofHkUu cM+s cka/kksa dk yxHkx 57% fgLlk buesa ls fdl ns'k dk gS\ 
 A. czkt+hy vkSj Hkkjr 
 B. tkiku vkSj Hkkjr 
 C. phu vkSj Hkkjr 
 D. czkt+hy vkSj phu 
 
26- ........ is one of the most prevalent hotspots of biodiversity in India. 
 A. Himalayas 
 B. Ganges 
 C. Western Ghats  
 D. None of the above 
 ----------- Hkkjr esa tSo fofo/krk ds lcls izpfyr gkWVLikWV esa ls ,d gSA 
 A. fgeky; 
 B. xaxk 
 C. if'peh ?kkV 
 D. buesa ls dksbZ Hkh ugha  
 
27- One of the least porous soil is ? 
 A. Peat Soil 
 B. Loam 
 C. Sandy soil 
 D. Clayey soil 
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 lcls de fNnz;qä feV~Vh esa ls ,d gS\ 
 A. ihV feV~Vh 
 B. fpduh cqybZ feV~Vh 
 C. jsr Hkjh feV~Vh 
 D. fpduh feV~Vh 
 
28- Condition occurs when the death of the last individual in a species occurs. 
 A. Adaptation 
 B. Extinction  
 C. Phylogenic diversity 
 D. Speciation  
 fLFkfr rc mRiUu gksrh gS tc fdlh iztkfr ds vafre O;fDr dh e`R;q gks tkrh gSA 
 A. vuqdwyu 
 B. foyqIr gksus 
 C. Qkbykstsfud fofo/krk 
 D. iztkrhdj.k 
 
29- This Property is not generally seen in biodiversity hotspots. 
 A. Endemism  
 B. Lesser interspecific competition  
 C. Species richness  
 D. Loss of diversity  
 ;g laifÙk vke rkSj ij tSo fofo/krk okys gkWVLikWV esa ugha ns[kh tkrh gSA 
 A. LFkkfudrk 
 B. de varjfof'k"V izfrLi/kkZ 
 C. iztkfr lef̀) 
 D. fofo/krk dk uqdlku 
 
30- .......... is an example of an ex-situ conservation. 
 A. Seed bank 
 B. Sacred groves 
 C. Wildlife sanctuary    
 D. National park 
 ------------- ;g iwoZ&LFkku laj{k.k dk ,d mnkgj.k gSA 
 A. cht cSad  
 B. ifo= miou 
 C. oU;tho vH;kj.;  
 D. jk"Vªh; m|ku 
 
 
 
 
 
 
 
 

P.T.O. 



A-1088/FES (A) 10 10 
 

31- CPCB is situated at: 
 A. Delhi 
 B. Mumbai 
 C. Dehradun 
 D. Kolkata 
 lhihlhch dgk fLFkr gS\ 
 A. fnYyh 
 B. eqacbZ 
 C. nsgjknwu 
 D. dksydkrk 
 
32- An ecological state of a species being unique to a specific geographic location is 
 known as? 
 A. Endemic species 
 B. Exotic species 
 C. Ecosystem 
 D. Extinct species 
 fdlh fof'k"V HkkSxksfyd LFkku ds fy, vf}rh; iztkfr dh ikfjfLFkfrd fLFkfr dks D;k dgk 
 tkrk gS\ 
 A. LFkkfud iztkfr;ksa  
 B. fons'kh iztkfr 
 C. ikfjfLFkfrdh ra= 
 D. foyqIr iztkfr 
 
33- The number of species represented in a specific region, landscape or ecological 
 community is known as? 
 A. Species richness 
 B. Coevolution  
 C. Commensalism  
 D. Population density 
 fdlh fof'k"V {ks=] ifjn'̀; ;k ikfjfLFkfrd leqnk; esa iznf'kZr iztkfr;ksa dh la[;k dks D;k 
 dgk tkrk gS\ 
 A. iztkfr lef̀) 
 B. lgfodkl 
 C. desalfyTe 
 D. tula[;k ?kuRo 
 
34- Global warming can significantly be controlled by? 
 A. Reducing fossil fuel consumption 
 B. Increasing solid waste 
 C. Reducing water wastage 
 D. Burning human-generated waste 
 Xykscy okfeZax dks fdlds }kjk dkQh gn rd fu;af=r fd;k tk ldrk gS\ 
 A. thok'e bZ/ku dh [kir dks de djuk 
 B. c<+rk Bksl dpjk 
 C. ikuh dh cckZnh de djuk 
 D. ekuo&tfur vif'k"V tykuk 
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35- ........ is the basic unit of classification and a taxonomic rank? 
 A. Genus 
 B. Class 
 C. Order  
 D. Species  
 ---------- oxhZdj.k dh ewy bdkbZ vkSj oxhZdj.k jSad gS\ 
 A. tkfr 
 B. d{kk 
 C. vkns'k 
 D. iztkfr;k¡ 
 
36- When was the project tiger Launched? 
 A. 2004 
 B. 1983 
 C. 1973 
 D. 2013 
 ck?k ifj;kstuk dc 'kq: dh xbZ Fkh\ 
 A. 2004 
 B. 1983 
 C. 1973 
 D. 2013 
 
 
37- Among these which species are NOT in the IUCN classification of threatened species? 
 A. Harmful 
 B. Extinct 
 C. Vulnerable 
 D. Endangered  
 buesa ls dkSu lh iztkfr;k¡ ladVxzLr iztkfr;ksa ds IUCN oxhZdj.k esa ugha gSa\ 
 A. gkfudkjd  
 B. foyqIr 
 C. vlqjf{kr 
 D. ladVxzLr 
 
38- What does WWF Stands for: 
 A. World Wildlife Federation 
 B. Web World Federation 
 C. World Wildlife Fund 
 D. World Web Federation 
 WWF dk D;k vFkZ gS% 
 A. fo'o oU;tho egkla?k  
 B. osc oYMZ QsMjs'ku 
 C. fo'o oU;thou dks"k 
 D. oYMZ osc QsMjs'ku 

P.T.O. 
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39- For Documenting rare and endangered species of animals and plants what is 
 established? 
 A. Green data Book 
 B. Blue data book 
 C. Red data book 
 D. Black data book 
 tkuojksa vkSj ikS/kksa dh nqyZHk vkSj yqIrizk; iztkfr;ksa ds nLrkosthdj.k ds fy, D;k LFkkfir 
 fd;k x;k gS\ 
 A. xzhu MsVk cqd 
 B. Cyw MsVk cqd 
 C. jsM MkVk cqd 
 D. CySd MsVk cqd 
 
40- The Wetlands of East Kolkata have been declared as 
 A. Ramsar Site 
 B. Biodiversity site 
 C. World Heritage Site 
 D. Tourist site 
 iwohZ dksydkrk dh vknzZHkwfe;ksa dks ?kksf"kr fd;k x;k gS 
 A. jkelj lkbV 
 B. tSo fofo/krk LFky  
 C. fo'o fojklr LFky 
 D. i;ZVd LFky 
 
41- Place where the Threatened animals and plants are protected for special care is 
 known as? 
 A. In situ Conservation 
 B. Wildlife Sanctuary  
 C. National Park 
 D. Ex-Situ Conversation 
 
 og LFkku tgk¡ ladVxzLr tkuojksa vkSj ikS/kksa dks fo'ks"k ns[kHkky ds fy, lajf{kr fd;k tkrk 
 gS] dgykrk gS\ 
 A. ;FkkLFkku laj{k.k 
 B. oU;tho vH;kj.; 
 C. jk"Vªh; m|ku 
 D. iwoZ&fLFkfr okrkZyki 
 
42- What is an important reason for natural resource conservation? 
 A. Disturb the ecological balance 
 B. Distruption of the quality of the environment  
 C. Preserve the biological diversity 
 D. Hampering the biological species 
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 izkd`frd lalk/ku laj{k.k dk egRoiw.kZ dkj.k D;k gS\ 
 A. ikfjfLFkfrd larqyu dks fcxkMsa+ 
 B. i;kZoj.k dh xq.koÙkk esa O;o/kku 
 C. tSfod fofo/krk dk laj{k.k djsa 
 D. tSfod iztkfr;ksa dks ckf/kr djuk 
 
43- What is the correct abbreviation for IUCN? 
 A. International Union for Conservation of Nuts 
 B. International Union for Conservation of Natural habitat 
 C. International Union for Conservation of Nature 
 D. International Union for Conservation of Numbers 
 
 IUCN dk lgh laf{kIr uke D;k gS\ 
 A. uV~l ds lja{k.k ds fy, varjkZ"Vªh; la?k 
 B. izkd`frd vkokl ds laj{k.k ds fy, varjkZ"Vªh; la?k 
 C. izd`fr laj{k.k ds fy, varjkZ"Vªh; la?k 
 D. la[;kvksa ds laj{k.k ds fy, varjkZ"Vªh; la?k 
 
44- The main causes of biodiversity loss today are: 
 A. Over-exploitation  
 B. Habitat loss and fragmentation  
 C. Alien species invasions  
 D. Co-extinctions  
 
 vkt tSo fofo/krk gkfu ds eq[; dkj.k gSa% 
 A. vR;f/kd nksgu 
 B. fuokl&LFkku dk uqdlku vkSj fo[kaMu 
 C. fons'kh iztkfr;ksa dk vkØe.k 
 D. lg&foyqIr gksuk 
 
45- Which of the following is not included under in situ conservation? 
 A. National park 
 B. Biosphere reserve 
 C. Sanctuary  
 D. Botanical garden 
 
 fuEufyf[kr esa ls D;k lhVw laj{k.k ds varxZr 'kkfey ugha gS\ 
 A. jk"Vªh; m|ku 
 B. thoeaMy fjt+oZ 
 C. vH;kj.;  
 D. cksVSfudy xkMZu 
 
 
 
 

P.T.O. 
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46- Which is the National aquatic animal of India? 
 A. Blue whale 
 B. Gangetic shark 
 C. Sea horse 
 D. River dolphin 
 
 Hkkjr dk jk"Vªh; tyh; tho dkSu lk gS\ 
 A. uhyh Ogsy 
 B. xaxk 'kkdZ 
 C. leqnzh ?kksM+k 
 D. unh MkWfYQu 
 
47- The Rio declaration is also known as: 
 A. Earth summit 
 B. Global investor's summit  
 C. Global Maritime summit 
 D. None of the above 
 
 fj;ks ?kks"k.kk dks bl uke ls Hkh tkuk tkrk gS% 
 A. oSf'od f'k[kj lEesyu 
 B. oSf'od fuos'kd f'k[kj lEesyu 
 C. oSf'od leqnzh f'k[kj lEesyu 
 D. buesa ls dksbZ Hkh ugha 
 
48- The Forest (Conservation) Act was enacted in the year: 
 A. 1980 
 B. 1974 
 C. 1986 
 D. 1972 
 
 ou ¼laj{k.k½ vf/kfu;e fdl o"kZ vf/kfu;fer fd;k x;k Fkk% 
 A. 1980 
 B. 1974 
 C. 1986 
 D. 1972 
 
49- The Wildlife (Protection) act was enacted in the year: 
 A. 1986 
 B. 1972 
 C. 1980 
 D. 1974 
 
 oU;tho ¼laj{k.k½ vf/kfu;e fdl o"kZ vf/kfu;fer fd;k x;k Fkk% 
 A. 1986 
 B. 1972 
 C. 1980 
 D. 1974 
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50- Where is the headquarters of UNEP located? 
 A. Nairobi, Kenya 
 B. Geneva 
 C. Vienna 
 D. Netherland 
 
 UNEP dk eq[;ky; dgk¡ fLFkr gS\ 
 A. uSjksch] dsU;k 
 B. ftusok  
 C. fo;uk   
 D. uhnjySaM 
 
51- Which is the most abundant greenhouse gas in the atmosphere? 
 A. Carbon dioxide 
 B. Nitrogen Dioxide 
 C. Water vapour 
 D. Methane 
 
 ok;qeaMy esa lokZf/kd izpqj ek=k esa ikbZ tkus okyh xzhugkml xSl dkSu lh gS\ 
 A. dkcZu MkbZvkWDlkbM 
 B. ukbVªkstu MkbvkWDlkbM 
 C. ty ok"i 
 D. ehFksu 
 
52- NGT stands for: 
 A. National Green Tribunal 
 B. National Green Taxes 
 C. National Green Tree 
 D. National Great Tribunal 
 
 ,uthVh dk vFkZ gS% 
 A. jk"Vªh; gfjr U;k;kf/kdj.k 
 B. jk"Vªh; gfjr dj 
 C. jk"Vªh; gfjr ò{k 
 D. jk"Vªh; egku U;k;kf/kdj.k 
 
53- Where is the headquarters of the IUCN located? 
 A. Switzerland 
 B. Paris  
 C. New York 
 D. None of the above 
 
 
 
 

P.T.O. 
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IUCN dk eq[;ky; dgk¡ fLFkr gS\ 
 A. fLoV~t+jySaM 
 B. isfjl 
 C. U;w;kWdZ  
 D. buesa ls dksbZ Hkh ugha  
 
54- Which of the following is one of the six pollutants under Kyoto protocol regulations? 
 A. Chlorine 
 B. Phosgene 
 C. Carbon mono oxide 
 D. Perfluorocarbons  
 
 fuEufyf[kr esa ls dkSu lk D;ksVks izksVksdkWy fu;eksa ds rgr Ng iznw"kdksa esa ls ,d gS\ 
 A. Dyksjhu 
 B. ,d fo"kSyh xSl  
 C. dkcZu eksuks vkWDlkbM 
 D. isj¶ywjksdkcZu 
 
55- Increase in atmospheric temperature due to carbon dioxide is? 
 A. Pasteur effect 
 B. Blackman effect 
 C. Green house effect 
 D. Emerson effect 
 
 dkcZu MkbvkWDlkbM ds dkj.k ok;qeaMyh; rkieku esa o`f) gksrh gS\ 
 A. ik'pj izHkko 
 B. CySdeSu izHkko 
 C. xzhugkml izHkko 
 D. ,elZu izHkko 
 
56- How many biogeographic zones does India have? 
 A. 5 
 B. 6 
 C. 8 
 D. 10 
 
 Hkkjr ds fdrus tSo&HkkSxksfyd {ks= gSa\ 
 A. 5 
 B. 6 
 C. 8 
 D. 10 
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57- Green plants are called: 
 A. Decomposer 
 B. Consumer  
 C. Producer 
 D. None of these 
 
 gjs ikS/kksa dks D;k dgk tkrk gS\ 
 A. MhdEikStj 
 B. miHkksDrk 
 C. mRiknd 
 D. buesa ls dksbZ Hkh ugha  
 
58- Which is the renewable exhaustible natural energy resource? 

A.  Coal 
B.  Petroleum  
C.  Kerosene  
D.  Biomass  

 
 uohdj.kh; lekIr gksus okyk izkd̀frd ÅtkZ lalk/ku dkSu lk gS\ 
 A. dks;yk 
 B. isVªksfy;e  
 C. feV~Vh dk rsy 
 D. ck;ksekl 
 
59- Plants growing under direct sunlight are known as 
 A. Heliophytes  
 B. Sciophytes  
 C. Psamophytes  
 D. Dicots  
 lh/ks lw;Z ds izdk'k ds rgr mxus okys ikS/kksa dks fdl :i esa tkuk tkrk gS\ 
 A. gsfy;ksQkbV~l 
 B. lkbvksQkbV~l 
 C. lkeksQkbV~l 
 D. f}chti=h 
 
60- An orchid living on a tree exhibits  
 A. Predator  
 B. Mutualism   
 C. Commensalism  
 D. Parasitism  
 
 
 
 
 

P.T.O. 
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 ,d isM+ ij jgus okyk ,d vkfdZM iznf'kZr djrk gS 
 A. f'kdkjh 
 B. ikjLifjdrk 
 C. lgHkkstokn 
 D. ijthohokn 
 
61- Which statements is correct with respect to the food chain? 
 A. Every component of the food chain forms a trophic level 
 B. Inter-relation between different food chains is known as a food web 
 C. All the chains formed by nutritional relations is used to understand energy 
  flow 
 D. All of the above 
 
 [kk| J̀a[kyk ds laca/k esa dkSu lk dFku lgh gS\ 
 A. [kk| J̀a[kyk dk izR;sd ?kVd ,d VªkWfQd Lrj cukrk gS 
 B. fofHkUu [kk| J̀a[kykvksa ds chp varlaca/k dks [kk| tky ds :i esa tkuk tkrk gS 
 C. iks"k.k laca/kksa }kjk xfBr lHkh Jà[kykvksa dk mi;ksx ÅtkZ izokg dks le>us ds fy, 
  fd;k tkrk gSA 
 D. mijksDr lHkh 
 
62- Which of the following requires maximum energy? 
 A. Secondary consumer 
 B. Decomposer  
 C. Primary consumer  
 D. Primary producer 
 
 fuEufyf[kr esa ls fdldks vf/kdre ÅtkZ dh vko';drk gksrh gS\ 
 A. f}rh;d miHkksDrk 
 B. vi?kVd 
 C. izkFkfed miHkksDrk 
 D. izkFkfed mRiknd 
 
63- The bottom area where production is less than respiration in a pond ecosystem is 
 termed as 
 A. Profundal zone 
 B. Tidal zone 
 C. Benthic zone 
 D. Limnetic zone 
 uhps dk {ks= tgka mRiknu rkykc ikfjfLFkfrdh ra= esa 'olu ls de gksrk gS] mls D;k dgk 
 tkrk gS\ 
 A. izksQaMky tksu 
 B. Tokjh; {ks= 
 C. casfVd tksu 
 D. fyEusfVd tksu 
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64- Allelopathy refers to 
 A. Inhibition of growth of one species by another by the production of toxins. 
 B. Inhibition of sporulation of pathogen by the host 
 C. Altering the reproductive cycle of one organism by another 
 D. Inhibition of growth of one species by another by preventing reproduction. 
 
 ,ysyksiSFkh fdls lanfHkZr djrk gS\ 
 A. fo"kkDr inkFkksZ ds mRiknu }kjk ,d iztkfr }kjk nwljh iztkfr ds fodkl dk fu"ks/k 
 B. estcku }kjk jksxt+ud ds Liks:ys'ku dk fu"ks/k 
 C. ,d tho ds iztuu pØ dks nwljs }kjk cnyuk 
 D. iztuu dks jksddj ,d iztkfr }kjk nwljh iztkfr ds fodkl dk fu"ks/k 
 
 65- The ratio between energy flow at different points in a food chain is known as 
 A. Ecological capacity 
 B. Ecological efficiency  
 C. Ecological assimilation  
 D. Ecological potential  
 
 ,d [kk| Jà[kyk esa fofHkUu fcanqvksa ij ÅtkZ izokg ds chp ds vuqikr dks fdl :i esa 
 tkuk tkrk gS\ 
 A. ikfjfLFkfrd {kerk 
 B. ikfjfLFkfrd n{krk 
 C. ikfjfLFkfrd vkRelkr 
 D. ikfjfLFkfrd {kerk 
 
66- In an ecosystem, the energy flow is always 
 A. Always unidirectional  
 B. Always bidirectional  
 C. In any direction  
 D. Always down directional 
 
 ,d ikfjfLFkfrdh ra= esa] ÅtkZ izokg ges'kk gksrk gS  
 A. ges'kk ;wfuMk;jsD'kuy 
 B. ges'kk f}fn'k 
 C. fdlh Hkh fn'kk esa  
 D. ges'kk uhps fn'kkRed 
 
67- Which insects live and breed in the forest area? 
 A. Bees 
 B. Moths 
 C. Butterflies  
 D. All of the above 
 
 
 

P.T.O. 
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 dkSu ls dhV ou {ks= esa jgrs vkSj iztuu djrs gSa\ 
 A. chbZbZ,l 
 B. ekSFl 
 C. frrfy;ksa  
 D. Åij ds lHkh 
 
68- Which of the following is the key measure to reduce the number of diarrhea cases? 
 A. Improved sanitation 
 B. Food hygiene 
 C. Safe drinking water 
 D. All of the above 

 

 Mk;fj;k ds ekeyksa dh la[;k dks de djus ds fy, fuEufyf[kr esa ls dkSu lk izeq[k mik; 
 gS\ 
 A. csgrj LoPNrk   
 B. [kk| LoPNrk 
 C. lqjf{kr is;ty  
 D. mijksDr lHkh 
 
 
69- The upper part of an aquatic ecosystem contains 
 A. Nekton  
 B. Plankton  
 C. Benthos  
 D. both (1) and (2) 
 ,d tyh; ikfjfLFkfrdh ra= ds Åijh Hkkx esa 'kkfey gSa 
 A. usdVu 
 B. Iyod 
 C. csaFkksl 
 D. ¼1½ vkSj ¼2½ nksuksa  
 
70- The famous book 'Diversity of life' was written by the following: 
 A. E.O.Wilson 
 B. Alfred Wallace 
 C. M.S.Swaminathan 
 D. Madhav Gadgil 
 
 izfl) iqLrd ^thou dh fofo/krk* fuEufyf[kr }kjk fy[kh xbZ Fkh% 
 A. bZ-vks-foYlu 
 B. vYÝsM okysl 
 C. ,e-,l-LokehukFku  
 D. ek/ko xkMfxy 
 
 
 
 
71- Which of the following is used as biofertilizer? 
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 A. Rhizobium 
 B. Azolla 
 C. Blue green algae 
 D. All of the above 
 
 fuEufyf[kr esa ls fdldk mi;ksx tSomoZjd ds :i esa fd;k tkrk gS\ 
 A. jkbtksfc;e 
 B. vtksyk 
 C. uhy gfjr 'kSoky 
 D. mijksDr lHkh 
 
72- Primary consumers in a food chain are: 
 A. Cattle and rats 
 B. Insects and fish 
 C. Cats and cows 
 D. Frogs and rabbits 
 
 [kk| J̀a[kyk esa izkFkfed miHkksDrk gSa( 
 A. eos'kh vkSj pwgs  
 B. dhM+s vkSj eNyh 
 C. fcfYy;k¡ vkSj xk;sa 
 D. esa<d vkSj [kjxks'k 
 
73- In India, the best timber producing tree is: 
 A. Sal 
 B. Mango  
 C. Teak 
 D. Shisham 
 
 Hkkjr esa lcls vPNk bekjrh ydM+h iSnk djus okyk isM+ gS% 
 A. lky 
 B. vke   
 C. lkxkSu   
 D. 'kh'ke 
 
74- Pollutant from motor-car exhaust that causes metal disease is: 
 A. Mercury 
 B. Lead 
 C. Nickel 
 D. Zinc 
 
 
 
 
 

P.T.O. 
 eksVj&dkj ds /kq,a ls fudyus okyk iznw"kd tks /kkrq jksx dk dkj.k curk gS og gS% 
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 A. cq/k 
 B. usr̀Ro 
 C. fudsy 
 D. ftad 
 
75- What is called the biodiversity of different ecosystem of geographical area? 
 A. Alpha diversity 
 B. Beta diversity 
 C. Gamma diversity 
 D. None of the above 
 
 HkkSxksfyd {ks= ds fofHkUu ikfjfLFkfrdh ra= dh tSo fofo/krk D;k dgykrh gS\ 
 A. vYQkfofo/krk 
 B. chVkfofo/krk 
 C. xkekfofo/krk 
 D. mijksDr esa ls dksbZ ugha 
 
76- Planting trees in a deforested land is known as  
 A. Afforestation  
 B. Deforestation  
 C. Silviculture  
 D. Sericulture  
 ouksUewfyr Hkwfe ij o`{k yxkuk dgykrk gS\ 
 A. oujksi.k 
 B. ouksadhdVkbZ 
 C. flfYodYpj 
 D. js'kemRiknu 
 
 
77- The reason for certain animals getting endangered are 
 A. Hunting 
 B. Pollution of environment 
 C. Natural calamities  
 D. All of these 
 dqN tkuojksa ds yqIrizk; gksus ds dkj.k gSa 
 A. f'kdkj djuk 
 B. i;kZoj.k dk iznw"k.k 
 C. izkd`frd vkink,a 
 D. bu lc 
 
 
 
 
 
 
 
78- Because of deforestation, decreased transpiration leads to 
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 A. Less cloud formation 
 B. More cloud formation 
 C. More water storage 
 D. More oxygen 
 
 ouksa dh dVkbZ ds dkj.k ok"iksRltZu esa deh vkrh gS 
 A. de ckny cuuk 
 B. vf/kd ckny cuuk 
 C. vf/kd ty HkaMkj.k 
 D. vf/kd vkWDlhtu 
 
79- The highest moisture content is in: 
 A. Garbage 
 B. Rubbish 
 C. Hospital waste 
 D. Agricultural waste 
 
 lcls vf/kd ueh dh ek=k gksrh gS% 
 A. dpjk 
 B. cdokl 
 C. vLirky dk dpjk 
 D. d`f"k vif'k"V 
 
80- Excess fluoride in drinking water is likely to cause: 
 A. Blue baby syndrome 
 B. Fluorosis 
 C. Change in taste and odour 
 D. Intestinal irritation 
 
 ihus ds ikuh esa ¶yksjkbM dh vf/kdrk ds dkj.k gksus dh laHkkouk gS% 
 A. Cyw csch flaMªkse 
 B. ¶yksjksfll 
 C. Lokn vkSj xa/k esa cnyko 
 D. vkarksa esa tyu 
 
 
81- Taj Mahal at Agra may be damaged by: 
 A. Sulphur dioxide 
 B. Chlorine 
 C. Hydrogen 
 D. Oxygen 
 
 
 

P.T.O. 
 

vkxjk esa rkt egy dks uqdlku gks ldrk gS% 
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 A. lYQj MkbvkWDlkbM 
 B. Dyksjhu 
 C. gkbMªkstu   
 D. vkWDlhtu 
 
82- Primary sources of water is: 

 A. Rivers 

 B. Ground water 

 C. Lakes 

 D. Rain water 

 

 ty dk izkFkfed lzksr gS 

 A. ufn;ksa  

 B. Hkwty 

 C. >hy 

 D. ckfj'k dk ikuhA 

 

 

83- The concept of 'Biosphere Reserve' was evolved by 

 A. Government of India 

 B. Botanical Survey of India 

 C. UNESCO 

 D. UNDP 
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 ^ck;ksLQh;j fjtoZ* dh vo/kkj.kk fdlds }kjk fodflr dh xbZ Fkh\ 

 A. Hkkjr ljdkj 

 B. Hkkjrh; ouLifr losZ{k.k 

 C. ;wusLdks 

 D. ;w,uMhih 

84- The multi-crore project about the Ganga Action Plan came 

 A. 1905 

 B. 1955  

 C. 1985 

 D. 1995 

 xaxk ,D'ku Iyku dks ysdj djksM+ksa dk izkstsDV vk;k 

 A. 1905 

 B. 1955  

 C. 1985 

 D. 1995 

 

85- Sum of all ecosystems is classified as 

 A. aero sphere 

 B. ionosphere 

 C. biosphere  

 D. ozonosphere 

 

 

P.T.O. 
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 lHkh ikfjfLFkfrd ra=ksa ds ;ksx dks bl izdkj oxhZd`r fd;k x;k gS 

 A. gokbZ {ks= 

 B. ;ks.k {ks= 

 C. chvksfLQv 

 D. vkstksuksLQh;j 

a 

86- Chemical group 'Halons' are emitted in 

 A. Montreal 

 B. Iceland 

 C. British Columbia  

 D. Greenland 

 

 jklk;fud lewg ^gSyksUl* dk mRltZu gksrk gS 

 A. ekWfUVª;y 

 B. vkblySaM 

 C. fczfV'k dksyafc;k 

 D. xzhuySaM 

 

87- Higher energy level and shorter wavelengths are features of  

 A. Beta radiation 

 B. Alpha radiation 

 C. Ultraviolet radiation 

 D. Infrared radiation 

 

 



A-1088/FES (A) 10 27 
 

 mPp ÅtkZ Lrj vkSj NksVh rjax nS/;Z bldh fo'ks"krk,a gSa 

 A. chVk fofdj.k 

 B. vYQk fofdj.k 

 C. ijkcSaxuh fofdj.k 

 D. vojä fofdj.k 

 

88- Phytoplanktons are: 

 A. Herbs  

 B. Trees  

 C. Shrubs  

 D. Microscopic floating plants 

 

 QkbVksIykadVu gSa% 

 A. tM+h cwVh 

 B. isM+ 

 C. >kfM+;ka  

 D. lw{e rSjrs ikS/ks 

 

89- Maximum pollution in river Ganga is at: 

 A. Varanasi 

 B. Haridwar  

 C. Kanpur 

 D. Agra 

P.T.O. 
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 xaxk unh esa vf/kdre iznw"k.k dgk¡ gS% 

 A. okjk.klh 

 B. gfj}kj 

 C. dkuiqj 

 D. vkxjk 

 

90- Correct answer of food chain is: 

 A. Insect    Grass      Bird     Frog 

 B. Grass   Insect   Frog   Bird  

 C. Frog   Bird   Grass   Insect 

 D. Bird   Frog   Insect   Grass 

 

 [kk| J̀a[kyk dk lgh mÙkj gS% 

 A. dhV ?kkl  i{kh  esa< 

 B. ?kkl  dhV  esa<d  i{kh 

 C. esa<d  i{kh ?kkl  dhV 

 D. i{kh  esa<d  dhV ?kkl 

 

91- Silent valley is located at: 

 A. Kerala 

 B. Maharastra 

 C. Andhra Pradesh 

 D. Tamil Nadu 
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 lkbysaV oSyh fLFkr gS% 

 A. dsjy 

 B. egkjk"Vª 

 C. vka/kz izns'k 

 D. rfeyukM+̀ 

 

92- Ozone hole formation is maximum over: 

 A. Arctic  

 B. Europe 

 C. Antarctica  

 D. Asia 

 vkstksu fNnz dk fuekZ.k vf/kdre gksrk gS% 

 A. vkdZfVd 

 B. ;wjksi 

 C. vaVkdZfVdk 

 D. ,f'k;k  

 

93- UV radiation causes: 

 A. Liver cancer 

 B. Lung cancer 

 C. Mouth cancer 

 D. Skin cancer 

 

P.T.O. 
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 ;woh fofdj.k ds dkj.k% 

 A. yhoj dSalj 

 B. QsQM+s dk dSalj 

 C. eqag dk dSalj 

 D. Ropk dSalj 

 

94- Maximum density of water is at: 

 A. 40C 

 B. 00C 

 C. 1000C 

 D. 2720C 

 ty dk vf/kdre ?kuRo gS% 

 A. 40C 

 B. 00C 

 C. 1000C 

 D. 2720C 

 

95- 'Minamata disaster' in Japan was caused by pollution due to: 

 A. Lead  

 B. Mercury 

 C. Cadmium  

 D. Zinc 

  

 tkiku esa ^feuekrk vkink* iznw"k.k ds dkj.k gqbZ Fkh% 

 A. lqjkx+ 

 B. cq/k 

 C. dSMfe;e 

 D. ftad 
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96- The most famous Earth Summit is held in 1992, was organized at: 

 A. Helsinki 

 B. Kyoto 

 C. Rio-de-Janerio 

 D. Johannesburg 

 lcls izfl) i`Foh f'k[kj lEesyu 1992 esa vk;ksftr fd;k x;k Fkk% 

 A. gsyfladh 

 B. D;ksVks 

 C. fj;ks&Mh&tsusfj;ks 

 D. tksgkUlcxZ 

a 

97- Asian Lions are generally found in: 

 A. Sunderban 

 B. Rajaji National Park 

 C. Gir National Park 

 D. Dudhwa National Park 

 

 ,f'k;kbZ 'ksj vke rkSj ij ik, tkrs gSa% 

 A. lqanjcu 

 B. jktkth jk"Vªh; m|ku  

 C. fxj jk"Vªh; m|ku 

 D. nq/kok jk"Vªh; m|ku 

 

98- Soil salinity can be measured by: 

 A. Potometer 

 B. Porometer 

 C. Calorimeter 

 D. Conductivity meter 

 

P.T.O. 
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 feV~Vh dh yo.krk ekih tk ldrh gS% 

 A. iksVksehVj 

 B. iksjksehVj 

 C. dSyksjhehVj  

 D. pkydrk ehVj 

99- The dangerous radioactive air pollutant is: 

 A. Ca-40 

 B. Thermal 

 C. Sr-90 

 D. Soil 

 [krjukd jsfM;ks/kehZa ok;q iznw"kd gS% 

 A. lh,&40 

 B. FkeZy 

 C. lhfu;j&90 

 D. feV~Vh 

100- About 90% of the total biomass produced on the earth is through the following: 

 A. Ocean 

 B. Forest 

 C. Grasslands 

 D. Crops 

 ìFoh ij mRikfnr dqy ck;ksekl dk yxHkx 90% fuEufyf[kr ds ek/;e ls gksrk gS% 

 A. egklkxj 

 B. ou 

 C. ?kkl ds eSnku  

 D. Qlysa 

 
***************** 


